BlZt : A =

HOY 2RO TRMEL LS £2FZ

CRODEWICEZR IV, (DTWVWFRBEZTYFZTLLI. )

D BE300mMTENK [ ERIL. SBFRITRIkmiE & F ¥ 5%

I\ -

L7

@ #E3I40MNEIE. 20 TkmiE A E T 5,

3\ -

L

B HBEAS0MTIKSAHY T, |6 TAkmH#E A F T 5,

I\ -

UR‘
Ny




[
=27

' S 710 BI=
o xeT 067

HOYERHTHEMLELAS 23z

CRODEWICEZR IV, (DTWVWFRBEZTYFZTLLI. )

O BEE300MTENK 3Kk lE. SEERITaTkmi#E &4 F 9 2%,

. <EE>
A:300X 5 = |500
| 5001000 = I|.5
Ex: | .5 km
@ #E3I40MDEIL. 208 TakmHEH T T 5,
<EE>

A:340X20 = 6300
6300+ 1000 = 6.8

Ei: 6.8 km

B PDBASOMTEKSHY AL, |69 TRIkm#E L F T 5,
. <E£H>
X:450X 16 = 7200

72001000 = 7.2

Er: )2 km

@ EE B %?@?‘5@3%@&@



